1008 Dreketi Sangam School

Year 8 Mathematics Answer Sheet 2021

No: Question Working Answer

1. | Convert each of the following to the unit given in brackets. a) 7000 ml
a) 7L = ml b) 6500 ml
b)6% L= ml c)69.5 Lor
¢) 69 500ml = L 69% L

2. Calculate the volume of these cuboids in cm? and then
convert it into ml.

a) 360cm’®
8cm
/ 360 ml
< > 3cm
15cm
3. | b) Calculate the vplume of these cuboids in cm®
A
12cm
288 cm®
v
< > / 4cm
6cm
4,
T O
N~ ? A =900 ml
A
. ___/ B= 1200 ml
% full of water ¥ full of water

If Tank A has the capacity of 1.8L and Tank B has 1.6L of
water when full, then calculate the volume of water in each
tank. Write your answer in ml.
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